12.0km

2/4 14.0(25.0)m
10,950m
6 (1000m)
2 (190m) 18,111 97.0%
S59
13,019| 96.0%
H19 | 5,092|100.0%
IC

B/C=




3.9km

5.5(7.0)m
3,030m
7 (623m)
1 (267m) 9,000, 35.0%
H2
8,550| 32.0%
H28 450| 80.0%

B/C=




10

1,8km

14.0(26.0)m
1,521m
1 (279m) 8,580| 84.0%
H8
4,802 75.0%
H22 | 3,778| 93.0%




11

0.9km

6.0(8.0)m
509m
1 (20m) 2,010 36.0%
(321m)
H7
1,964 34.0%
H22

64( 97.0%

B/C=




12

1.3km
6.0(11.0)m
1,272m
1 (A7m) 1,220{ 70.0%
H8
1,080( 67.0%
H21 140| 98.0%

B/C=




13

7,6km
14.0(20.5)m
1,743m
4 (959m) 29,702| 50.0%
4 (4,898m)
JCT 1 ( 9 )
c 1 1)
H8
26,201| 44.0%
H24 3,501( 100.0%

12

B/C=




14

8.2km
13.0(25.0)m
7,479m

5 (258m) 13,346| 74.0%
1 (413m)

S61
8,755( 70.0%
H24 4,591 80.0%

B/C=




15

5.1km

6.5(12.0)m
2,771m
8 (654m) 10,900| 19.0%
(1675m)
H8
10,220| 14.0%
H29

680 99.0%

B/C=




16

1.7km
6.0(8.0)m
1,565m
1 (175m) 2,500( 63.0%
H2
2,344] 61.0%
H20 156| 100.0%

B/C=




_0'[_

91.0%

L= 320m 100.0% 178
L= 245m 51,20
L= 163m 59,50
V=42,020m3 51.0%
V= 5,000m2 1474 74.2%
( )
A=1,660m2

579

1,474) 74.2%




_'['[_

530.8ha
B/C=1.57
16,970, 86.9% B/C=3.91
2.2ha B/C=1.02
39.8ha
12,810, 83.0%
2 3.5ha
(
3.6ha
100.0%

4,160




ha
17

A=52.5ha

23

15

-cT-

2,940| 2.4%

114
3,370| 63.9%

H28




